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Bq. kg Ba. kg Ba kg
1 HE™ R6.6.30 TSR BHEF(L11) BmHEEY(<6.4) BRHEET
2 HE™ R6.6.30 PSR BRHE9(<8.0) BHE3(<6.6) BHEET
3 57 Hh T R6.6.30 PSR BRHET(L75) BRHE3(<7.2) BHEET
4 57 Hh T R6.6.30 PSR BRHE9(<6.7) BHE3(L5.1) BHEET
5 57 Hh T R6.6.30 AHLA BHEEY(<9.8) BREET(T) BT
6 i th BT R6.6.30 JEVAHRR BRHE9(<9.8) BRHE9(<8.0) - qarkeac
7 HE™ R6.6.30 2aAN)L BHEHEY(<88) BmHE9(<6.9) BT
8 Frih BT R6.7.2 FHEA BRHEE9(<86) BRHEE(<7.4) BrEed
9 i th BT R6.6.30 XIHLA BRHE9(<7.2) BRHE9(<7.3) - qarkeac
10 $rth BT R6.6.30 ESA BRHE9(<8.7) BRHET(<L7.5) - Jarheac
11 HE™ R6.6.30 7Y BRHE9(<6.3) BRHET(<7.4) - Jarheac
12 $rth BT R6.7.2 7Y BRHEBT(<11) BRHE7(<7.8) - Jarheac
13 $rth BT R6.6.30 *7+3 BRHE9(<9.2) BRHE9(<7.9) - Jarheac
14 it ET R6.6.30 <HN BRHE7(<8.1) BRHE9(<L75) - Jarheac
15 i AT R6.7.2 YN BRHE7(<9.2) BRHE9(<7.0) - danhcac
16 HE™ R6.7.2 7YY BRHE3(<10) BRHE9(<6.4) - Jarheac
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17 HET R6.6.30 RyFHA BRHEE$(<82) BRHE$(<75) BREEd
18 HET R6.7.2 T7IE B E9(<9.9) BRHEE7(<7.3) > Jarkcar
19 HET R6.7.2 FALFHFI= B E9(<9.8) BHE7(<84) > Jarkcar
20 WhEm R6.6.30 SR BRHEE(<7.8) BRHEET(<74) > Jarkcar
21 WhEm R6.7.5 SR BEET(<1) BHE9(<83) > Jarkcar
22 WhEh R6.6.30 ThI«A R E9(<84) BEE9(<7.6) [; Jackcar
23 WhEh R6.6.30 Thh2 R B E9(<85) BEE7(<9.2) [; Jackcar
24 WhEh R6.7.3 FaAvEA B E9(<9.6) B E9(<9.0) [; Jackcar
25 WhE! R6.6.30 2744 R E9(<8.7) B E7(<9.6) [; Jackcar
26 WhETH R6.6.30 =l A BREET (<) BRHEE7(<7.0) BRHEY
27 WhETH R6.6.30 AEVHRA B E9(<8.1) BRHEE7(<75) BRHEY
28 WhET R6.6.30 LAANIL BREET (<) BRHEE7(<8.0) BRHEY
29 WhETH R6.6.30 =~ B E9(<83) BRHEE7(<72) BRHEY
30 WhETH R6.6.30 EZ4 BRHEE(<7.6) B E7(<6.5) BREEY
31 WhETH R6.6.30 J1) B E9(<9.9) BRHE7(<88) BREEY
32 WhETH R6.6.30 Ea7 A BRHEE9(<8.7) BREE7(<7.0) BREEY
33 WhETH R6.7.3 55 B E9(<8.6) BRHEE9(<9.0) BREEY
34 WhET R6.7.3 aAAHYd BRHEE(<84) BREET(<74) BREEY
35 WhET R6.6.30 VikoE BREE(<9.1) BREE7(<72) BREEY
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36 LWhET R6.7.2 7IE BRHE$(<88) BRHET(<7.8) BREEd
37 WhEM R6.7.2 FALSHFIZ BRHE9(<86) BRHE9(<8.0) BRHEEY
38 = [ BT R6.6.29 FYRANIL B E9(<9.5) BRHE9(<6.8) BRHEET
39 [ 27 BT R6.6.30 RRY BRHEE(<7.8) BRHEET(<74) > Jarkcar
40 [ 27 BT R6.6.30 254 BRHE9(<8.8) B E9(<6.8) > Jarkcar
41 SIEET FEI R6.7.2 7 R E(<7.6) B E9(<6.6) [; Jackcar
42 %EEJTI”@?)“' (FI% R6.7.2 pg=! B E9(<8.6) BREE7(<7.2) [; Jackcar
43 ﬁﬁmﬂm@g“' (FI% R6.7.5 A47F BREHET(<11) B E7(<84) [; Jackcar
44 ﬁ?ﬁﬁﬂﬂwﬁ%m (FI% R6.7.5 A47F B E9(<9.9) B E7(<84) [; Jackcar
4 | EERE ERIGTR R6.6.26 17F B 9(<69) BHET(<72) BHET
46 SIERT FE) R6.7.3 A47% R E9(<84) BREET(<74) BRHEY
47 ﬁﬁﬁ%i@g“' (FI% R6.7.5 YA B E9(<9.7) R E7(<86) BRHEY
48 ﬁﬁﬁ%ﬁ%’” (FI% R6.7.5 YA B E9(<84) BHEE7(<6.1) BRHEY
49 ﬁﬁﬁ%fﬁ%’” (FI% R6.6.26 YA B E9(<8.8) BRHE7(<8.0) BREEY
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1 LWhEM R6.6.30 i=VE BRHEE(<7.6) BRHEET(<74) > Jarkcar
2 = T R6.6.29 Zi=VE BHE9(<85) BRHEE9(<7.6) BRHEEY
g | BRI R R6.6.30 YA BRHE9(<9.3) B 97(<6.5) BREEY
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